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Which are eighteen months -wmn' I

OVERVIEW
After the 71wn teaches us how a 7P is made in a %v27 n»3, the mawn concludes
‘wnin n'" 1w’. moon will discuss what is this phrase ‘wmn n" 17w’, teaching us.

nooIn asks:
— 997 111992 7299 NINH INND) JIWNYNRD NNN NI 99 NN

It is astounding! Does the Xin of the 71wn come to teach us how to count?! It is
obvious that twelve months and twice three months are eighteen months. Why does
the mwn conclude that ‘it adds up to eighteen months’? And in many places the
X" m3 asks in this manner; we do not need to be taught how to calculate.'

mMooIN anticipates a possible answer:
— IVINYND INN 1PDINIT 9139190 NI

And we cannot answer that the Xin of the 71w» is teaching us that these eighteen

months must be consecutive. If the Xin would have merely stated ‘three months, etc. and
three months, etc. and twelve months in between, without adding "w7n 1" 17w', I may mistakenly
assume that the three months and the twelve months etc. do not have to be consecutive. It may be
possible to make a 7117 for three months, then wait awhile and then continue to make the 7P for
the twelve months, etc. The 71wn, by stating w7n 11" 17w, makes it clear that the total amount of
time is eighteen months, meaning there can be no interruption in between. This will seemingly
answer Md0IN question.

mooIN rejects this answer:
— NN 29 )0 ¥ynWN XP ONN )5 ONY

For if it is indeed so; that by stating wmn 1" 7w, the mwn is teaching us the
requirement of P91%7, then what does X317 29 teach us. x17 27 states in the x7m3,” that
the 0°1w "3 NPT must be 191¥7. However, now that we are proposing that the phrase w7 n'" 7w,

teaches already the rule of 1°91¥7, why did X117 27 have to repeat it. We already know it from the
nwn!

mooIN anticipates a possible answer to this last question and rejects it. Seemingly it is possible
that we know the rule of 1°91¥7 from the m1wn. However X117 27 is merely restating that we can
derive it from the 71wn; he is not necessarily teaching us something new. This would seem to

" This may be a support to the original question; or perhaps it is an additional question. Why indeed did the X3 not
ask here, ]J’SJWDW?& RNR X111 °01?
2 R,00 7.
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resolve all difficulties. m»o0In however rejects this approach:
— D918 13327 )¥NY MN XY PRINHDNT ¥IWN XD

However from the X973 it seems that from our mw» (alone) we would not be

aware that 191¢" is required’ -
:(* 71 9y nanw o7 Hy] NI 29 PIWINYNT XY ON

Were it not for the fact that X137 17 taught it to us. Therefore the question remains
why is it necessary for the 71wn to state 'w7n 1" 1AW'? It cannot be to teach us 1791¥7, for X177 27
exclusively is teaching that to us.

SUMMARY
MBoIN questions the need for the 7Iwn to state w77 1" 7W. It cannot come to teach
us 791x7, for that is taught exclusively by X117 27.

THINKING IT OVER
Why indeed cannot we infer from w7 1" 17w that 191X are required?

3 After the X1m3 cites the rule of X117 27, it asks immediately "5 02w wWHw NP X0 5"np xn. Now if we were to
assume that w7 n" 7w teaches us that 191%7 are required, the X773 should have asked win i 17w 8710 5"np X0,
This proves that the X773 assumes that w7 1" 19w cannot teach us the rule of 121¥7. Also from the answer of the
X3 it is indicated that this rule is a w17°n of X117 27. See: ‘Thinking it over’.

* The v"v '01n claims, even if wTn 1™ 17w teaches us 721%7, however it may be that 19137 is required only by a n»
5va7 (where wTin ™ is stated), since it is not a complete three years. X117 21 is teaching us that even when three full
years are required for a pim, nevertheless 191X are still required. See &"py7 and others who discuss this point.
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